'swimming pool - [Replacement Pool Slide Handrail |

S\\——_—-"?P(F—’_j | \ ~ Pool Slide Handrail

" / o
slidesrer  /f ~._ / )

—

@ ;’I 52" =
& ',' hitps://lswimmingpoolslides net/swimmingpoolslideparts_htm
/
// -

9 <[ 01-210 Aluminum Ladder Spacer 2 ea.
10 05-31-110S 5/16" x 1" Hex Washer Head Tek Screw S/S 4 ea.
11 05-14-1018 5/16 “ x 1" Lag Screw S/S 2ea.
12 05-14-102 5/16" x 7/8" Flat Washer 2ea.
13 05-622 5/16" x 3/4" Black Rubber Washer 2 ea.
14 <=| 05-31-151 %-20 x 6" Carriage Bolt S/S 4ea.
15 <3| 05-31-149 -20 x 8" Carriage Bolt 5/S 2 ea.
16 6-121 Nylon Tube Connector 6 ea.
17 6-123 Nylon Handrail Connector 6 ea.
18«22 | 01-212 Aluminum Handrail Spacer 6 ea.
19 5-149 4" Lock Washer S/S 8 ea.
20 5137 4-20 Hex Nut 8/S 8 ea.
21 05-14-111 1/4 x 5/8 Flat Washer 8 ea.
0

A4 @i//

Depending on your slide  Required Length of #14 & #15 Carriage Bolts
model - You may have to  May Vary For your Installation.

drill new holes &jfor

adjust the length of the We suggest use of 3/4" schedule 80 pvc pipe
handrail with a hacksaw. to replace the #9 & #18 Aluminum Handrail

spacers. (Use a large flat washer at each end)

Sonirmaniig [Poel] Dides net
Replacement Pool Slide Handrail

https:/iswimmingpoolslides net/swimmingpoolslideparts_htm
Thisisa Special Order Part
Please review the abave Specifications, Notes and Instructions before placing your order.
Special Order Parts are not Returnable or Refundable




